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DIPLOMA IN DAIRY TECHNOLOGY (DDT) 

Term-End Examination 

June, 2015 

BPVI-017 : QUALITY ASSURANCE CD 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All the questions carry 

equal marks. 

	

1. 	Define the following : 	 1x10=10 
(a) Hazard 
(b) G.M. Food 
(c) Toxicant 
(d) Food additive 
(e) R.M. Value 
(f) Shelf life 
(g) Aroma 
(h) Burst factor 
(i) Emulsifier 
(j) Acidulants 

	

2. 	Write full form of the following : 	 1x10=10 
(a) FSMS 
(b) TQM 
(c) ISO 
(d) CCPs 
(e) GHP 
(f) AGMARK 
(g) WTO 
(h) MBR 
(i) LLDPE 
(j) CMC 
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3. 	Match the word given under Column 'B' with 
appropriate statement given under Column 'A'. 

1x10=1 
Column 'A' Column 'B' 

(a) Presence of antibiotic 

residue in food 
(i) Organic food 

(b) Obtaining evidence that 

control measures of 

HACCP plan are effective 

(ii) Chemical 

hazard 

(c) Assurance that food is 

acceptable for human 

consumption 

(iii) Validation 

(d) Food products produced 

in accordance with 

specified organic 

production standards 

(iv) Food safety 

(e) A special value for ghee (v) Anosmia 
(f) Inability to smell totally or 

a particular substance 
(vi) B.R. Reading 

(g) Pertaining to the action of 

sense organs 
(vii) Sensory 

(h) Taste sensation caused by 

acids 
(viii) Sour 

(i) Tests pertain to the 

evaluation of packages 

during transit 

(ix) Stabilizer 

(j) Substance which prevent (x) 

coagulation test 

Performance 
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4. 	Write True or False for the following : 	lx10=10 

(a) Food becomes hazardous by 
contamination. 

(b) Milk is not perishable in nature. 

(c) The quality assurance exercise should begin 
with good quality animals. 

(d) Prevention of food adulteration was exacted 
in 2011. 

(e) Products like ice - cream are always stored 
under frozen conditions. 

(f) Mixing of liquid using plunger is called 
agitation. 

(g) Sense of smell is called assessment. 

(h) A judgement or evaluation is called 
Olfactory. 

(i) An even surface or consistency is called 
smooth. 

0) 
	

Ascorbic acid and vit. E are natural 
antioxidants. 

5. (a) What are the different sources of milk 
infection ? Name two diseases caused by 
Prions. 	 3+2=5 

(b) Write preliminary steps in HACCP. 	5 

6. (a) What are the objectives of PFA and 	5 
MMPO ? 

(b) Define sensory evaluation of milk products. 	5 
List major applications of sensory 
evaluation. 
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7. 	(a) Differentiate between aroma and flavour. 
Give desirable attributes of milk. 	3+2=5 

(b) Name any two chemical antioxidants which 
are permitted in food products. Name the 
cheapest and very effective stabilizer 
produced in India and also that obtained 
from animal source. 	 2+3=5 
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(a) 	•Hche. 	 (b) 	f. 	rEr 4gf2i 

(c) 	faamitm 	(d) 	f.gf zhT7 

(e) 3-TR.V1. TIN 	(f) fiNTt 3T 

(g) 	TI4 	(h) 	ihd-f -EFe-T 

(i) 	1-1111 chit* 	(j) 	3111M7—*" 

2. -1---1 	cf 	771.  ft17 : 

(a) 	 (b) 	44. 

(c) 	3. V.1.311 	(d) 	TT?. 	41.t. 

(e) 	 (f) 	7. Q11.7.111.7.3TR.. 
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1x10=10 
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3. 	 Tr7 

2.1-9) 	 1x10=10 

` ''' cbi(11-1 c4 Ir144 	-U' 

(a) (i) 1-r-q-T ur-fr ura (-1q121 -4 	i-c1,.;=t1741-) 31-crftrca 

Hof 

(b) (ii) Iiiiur -51T71"-il 	ci, 	.7:4T.T1Ii--ft. tltilq -ich 

't Rt--4-ir 	F-i611tif 3crizi 39-1-r-q--*--rt ti (-1* d 

(c) (iii) -4q-1--*--{-or  -uro icwiRi koilf rah 	Liqi01:1-Fq 

r 	,-.11.1-)14 ti 

(d) (iv) 7§1-ru Tut -m-a 770 7'r fq-tt71-r-q-- 	do-ticl 

-479--*-It 3-1--TTr-{ 3c,-17.1 f-*7-r7ti I 

(e) (v) It t 40i -4Bch fa-' 179 I w,frim 

(f) (vi) .3T-R. f-*--4-  fa-trq yq10 . 't -T-TTTil 3-11F-F-  

,,4 A 4q4 4 3TA-421--di Lid -lick 

(g) Ti''-t 3frff 3/ 21-m  -tt ,,b 	fwm3T1 

-A TI-11-N-d.  

(vii) Ti-k- 

(h) MO -g-g1 31-ii't g.RI 6c,-1?1 	T7 	711q ch 

34-Tfff 

(i) (ix)  fR-rfr-*--R-T 'Ri,i - t 	-kki t -ibi-iiqi 

-A-Irf- tu t tc..-,A iGn -r A 	,-ik'lutrr 
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4. 	F-14-ii 	 TITIT4 (V) TIT (x) 	f979 r1+11 I 

1x10=10 
(a) TT 	 *1.01 4chdcf-a 	 t I 

(b) -) 711V 0.101 6) qr -r Liqrq 	 t 

(c) 3Trq-awi 	 wr4 3 	TriqM qf 
i-Rjaff -4 3-rt9.1f--7 ail .iir 	 I 

(d) 7571. 3-11:IFTIWT 	aTizt 	2011 A' r1I+LfWTIT 
4 1111 

(e) Z- irq 	3174A14 717r tql-f-a 3TqT-2.rr 1.f---rft-ff 
f-*7 	 

(f) ‘431,1aqf c-Iqq 	 zortrr 
fi,p3Tur ml rok.-11scri w-0 t I 

(g) 416)ki 	.d.fT*74 
t I 

(h) fffirr-zr 3T2r-qr 4-tc-114)-1 .1;1 TtE;r9-r 	t 
(I) 	 31'21-4T 1114-1 =44)1141 I 	11d1 t I 

0)-chif'4,4, 3T 1 afrt d14)14)*R-r Err rcIdIRI-1 
Trr-fr-d- -5rfu 3frw=r1-wrTI I  

5. (a) 	7'4 49b+-i(JI 	rciRp->r 	d 	 t ? trErri 
gRi 6) 	 A-dr$7 I 	 3+2=5 

(b) 	.7. 41. 41.t. 	Fri cf -51T 	 c,1 	5 
fry 	I 

6. (a) 	-1114-).7. 	 t.l 3t7:[ t ? 	5 

(b) 	7-311t 	*1 4ioTrFsm 	I 	5 

31-74T1):  cr;1 
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7. 	(a) Tf A 7p-F-4- 	 TcrL htl i 
-affuu 	c 	l 	 3+2=5 

(b) 7g7I tf T 74.  al T147i-  Pt) 	f 	TFITzifff 

t 	r 	I il-R7 14 z-- r 

qr -q-qt4 -tzrt -  A3rf 	39.1Tql fT-9-1-t*-TT 

714 G1c1 	A dt-I ft-21tTh—FT 	Ti=r 

	tt 	 2+3=5 
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